30

HERHNZ / Components

No. 2 / Part name #=E / Pcs #ME / Material £ - REALIE / Color-Finish
1 | A= 1 FILEZ A Fr A ADC12 DILIN— - PR
Cover Diecast aluminium ADGC12 Silver = Powder coated
2 |[R—X 1 7 LAR A1100P t1.5 AR YD JLN—F K- REEBNE
Base Aluminium A1100P t1.5 Metallic silver painted-Inside Conductivefinished
3 |BMREI—k 2 v)a—-> gL—
Thermal conductive sheets Silicone Gray
4 | AR—REfTER (I M2.5% 10) 2 #* =ffiyaA—k
Screw for Base (Flat—head M2.5-10) Steel Trivalent chromate
5 |Raspberry Pi EiREUTAE X (R M2.5% 4) 2 % =ffiynx—k
Screw for Board (M2.5-4) Steel Trivalent chromate
6 |DINL—/LEft1R 1 PC/ABS (UL94V-0 FRE4}) AT L—
DIN-RAIL Mounting Plate PC/ABS UL94V-0 Light gray
7 |DINL—/LEFHRFAE X (R M3 x 3) 4 E73 =ffiynA—k
Screw for Mounting Plate (M3-3) Steel Trivalent chromate
8 |BRARAVAHN— 1 RYA—HRR—bk =
Power button access cap Polycarbonate Transparent

THO=HILT—A / Technical Datell
it 27 & / Max load : 300g
{E ;R ESiE / Operating temperature

: —20°C ~ +80°C

mmf/Title

BRSUINTFERT S

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

Raspberry Pi 5 TREVEIDINL— )L —R
Raspberry Pi 5 HEATSINK DIN RAIL CASE

o]

RIE/Scale

7 5%/ Approved

iR

t&X]/Checked

14 H

#I[X/Created

il

FIE /Product number

RPHD-5-H-S

R— /Page

{ER B /Date 2024/10/29

175

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




D

96+ 0.3

30+0.2

9.6

(O O O)

U

A-A(1:15)

B-B (1:1.5)

]
|

)
®

®

BRSUINTFERT S

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fnd/Title
Raspberry Pi 5 JUEARIDINL— )L —X
Raspberry Pi 5 HEATSINK DIN RAIL CASE

o]

7 5%/ Approved

iR

t&X]/Checked

14 H

#I[X/Created

il

FIE /Product number

RPHD-5-H-S

RE/Scale
1:15

YERZ B /Date 2024/10/29

R— /Page

2 /5

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




$H/\— / Cover

30

6.5

96

6.5

14
14.2 14.2

54

C[rl
_—

12.5

11

12

4.4

4.2

) () U

(

7 49
C-C (1:1)
A
™
o
™
= /7
[o0)
[Ip)
o A
o
1—_
4-M2.5 By
4-M2.5 thread
mmf/Title

BRSUINTFERT S

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

Raspberry Pi 5 TREVEIDINL— )L —R
Raspberry Pi 5 HEATSINK DIN RAIL CASE

o]

7 5%/ Approved

iR

18 [X]/Checked

14 H

#I[X/Created

il

FIE /Product number

RPHD-5-H-S

RE/Scale
1:1

YERZ B /Date 2024/10/29

R— /Page

3 /75

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




~N—X / Base

59.6
4-R3
( | ] | ] \
H
(@) o
(7
N\
S H L
H (@) o
——
\ J L U
2-M2.5 MY\ 49

2-M2.5 Countersunk

28.6

58

15

4-M3 2y
4-M3 Thread

55

20

[
Ve
¢
Ve
¢

C— O
c——

15

BRSUINTFERT S

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

mmf/Title

Raspberry Pi 5 HEATSINK DIN RAIL CASE

Raspberry Pi 5 TREVEIDINL— )L —R

o]

RE/Scale
1:1

7 5%/ Approved #%[X|/Checked #I[X/Created R F /Product number
iR 1 H w1l RPHD-5-H-S
{ERL B /Date 2024/10/29

R— /Page

4 /5

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




DINL—/LER{F4#% / DIN-RAIL Mounting Plate

D-D(1:1)
6.5
B35
T 1
s s
N
6.1
30
3.5 3.75

i N ©—© Xl

i
f

65
55

1l
1l

==

@\ ()
| © ©
4 20

h

[

(10.9)

H{FTE / Installation drawing

]

o

i
]

G
=

o0
= =

—
==

= =

SPC/ABS<

O O

e
L

a1

=
gl

EDINL—/LEfFHRDERY S LAIZDOLTH
1. FIZFIF3

2. FRIZEFAIIZEIK

3 MYLIFfd

B How to detach DIN-RAIL Mounting Plate bracket from DIN railll
1. Push down bracket (or bracket with enclosure) as arrow direction.
2. Pull forward the lower part as arrow direction.

3. Pick up the bracket (or bracket with enclosure) as arrow direction.

BASUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fh/Title
Raspberry Pi 5 HUZAEIDINL — )L —2 O]
Raspberry Pi 5 HEATSINK DIN RAIL CASE

&R/ Approved & & /Checked & /Created B F /Product number RE/Scale
1:1
e, _E_H—
- o - RPHD-5-H-S —
YER B /Date 2024/10/29 575

AREDZBEEIMRASHINFEHTEICRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




